|

|

|
FIGURE 2-2A. DRIVE CLUTCH. SEE LIST 2-2A.

Manual No. 1014475

e
Effective Serial No. AG8801-135721 thru AG9152-272589




DRIVE CLUTCH

FIGURE- PART UNITS
NIIJ:AE;‘ER NUMBER ::; 1234 PEseRIPTION
2A - 1014449 1 DRIVE CLUTCH
FOR ILLUSTRATION, SEE FIGURE 2-2A
-1 1014451 1 FIXED FACE — DRIVE
-2 1014049 1 IDLER BEARING
-3 1014050 1 SPRING RETAINER
- 4 1014051 1 SPRING — DRIVE CLUTCH
-5 1014056 2 SPIRAL — BACK-UP RING
- 6 1014052 1 MOVABLE FACE
-7 1014057 1 RETAINING RING
- 8 1014058 1 THRUST WASHER
-9 1014059 1 DRIVE HUB
-10 8450 3 #10-24 X 1/2" HEX HEAD SCREW
-1 183 3 #10 FLATWASHER
-12 1014453 1 DRIVE CLUTCH BUTTON KIT
INCLUDES ITEMS 10 AND 11
-13 1014063 6 1/4-20 HEX HEAD WASHER FACE SCREW
-14 1014785 6 CLUTCH WASHER
- 15 1014455 1 DRIVE CLUTCH WEIGHT KIT
INCLUDES ITEMS 13 AND 14
- 16 1012441 1 3/8-24 X 5-1/2" HEX BOLT
-17 357 1 3/8" LOCKWASHER
-18 808 1 3/8" TYPE B FLATWASHER
-19 1014081 1 DRIVE BELT
-20 1014290 1 STARTER/GENERATOR BELT

=

7 Manual No. 1014475
DS oa s Effective Serial No. AG8801-135721 thru AG9152-272589

2-9A




